ELEC 225
Circuit Theory I
Fall 2013
Selected Answers to HW #7
Remember to explain all answers.  You will not receive credit for merely repeating an answer given here.  When an answer is not given below, it is either because the solution is trivial or because disclosure of the answer would give away too much of the solution to the problem.
7.20
iC(t) = 1.25 cos(5 × 104t + 55°)  mA
7.23
a.  Z1 = 2.7 – j18 

d.  Z4 = 20 – j20 

e.  Z5 = 13 – j11 
7.31
Zeq = 2.0 + j3.5 k
7.33
L = 0 or 2.5 mH
1.
Rp = 9 M; Cp = 11.1 pF
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